Efficiency vs P,

0.5

vs p
o
>
a1

o
N
[¢)]
T T[T T T [T [T [ TT T[T T [T [T 17T T

©
»

0.35]

ernciency

©
w

+
1
+

o
©
a

o

=
o
iN

1 10 . Gedf’

—— DQM_TT__CKF_ORIG
—— DQM_TT__CKFandPLess_ORIG
—— DQM_TT__CKFandPLess_MODIF

= 0.2
O A N W T

e S
g . . . . .
.90.16
(8]

£0.14
(]

0.12
0.1
0.08]
0.06]
0.04
0.02
.0

...........

Ratio

[y

o
©
a

Q[rrrrrrrrrqrrT

|

N

L ; H : .
o

[N

N

w

TP n

Efficiency vs ¢

f RN RN RN RN LR

1T IHI TTT
1
+

|

C

|

N

|

[N

O e e
=

N

W

TP @



	Contents
	Page 1


